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MATHEMATICS CUSTOM PAPER (CALCULATOR #3) 

THERE ARE 12 QUESTIONS FROM DIFFERENT TOPICS, SHOW FULL WORKING OUT.
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Question 1
Abdullah wants to travel to the USA. He has with him £250. 


Exchange rate:     £ 1 = $ 1.45

Abdullah decides to give 1/3 of his money to his Aunt in the USA when he arrives there. He then plans to split the remaining money in the ratio of 2:4 between his two friends, Jeff and Mike.

How much do Jeff and Mike get in dollars?








Question 2

A bus is sold for £500 after a sale of 35%. Find its original price                     		 (4)













Question 3
Babor wanted to do an experiment to see how the angle of a slope affects the acceleration.

[image: ]
He then used the formula g = [image: ] to calculate an estimate for g.
T = 1.3 correct to 1 decimal place. L = 4.50 correct to 2 decimal places. x = 30 correct to the nearest integer.
(a) Calculate the lower bound and the upper bound for the value of g. Give your answers correct to 3 decimal places.



Lower bound .........................................
Upper bound ..........................................
(4)

(b)	Use your answers to part (a) to write down the value of g to a suitable degree of accuracy. Explain your reasoning.
...................................................................................................
...................................................................................................

(1)
(Total 5 marks)



Question 4

Triangle ABC is a right-angled triangle. Calculate the length of AC. Give your answer correct to 3 significant figures.
B

19.4cm

3.4 cm


C
A

		(3)




(b) What is the angle ABC?								        (3)



Question 5

A triangle is made from edges A B and C. If the angle ABC is 250 and the angle BAC is 860 and length B is 24.5cm, find the length of side A. Give your answer to 3.d.p  		(6)












	Question 6

Below shows the number of yu-gi-oh cards a group of kids own.
	Number of yugioh cards owned
	Frequency

	60 < x < 70
	5

	70 < x < 80
	8

	80 < x < 90
	1

	90 < x < 120
	15

	120 < x < 180
	11



Work out an estimate for the mean number of yu-gi-oh cards owned!											(6)





















Question 7

The two functions f(x) and g(x) are defined as:

f(x) = 13x - 5
g(x) = 0.5x –+4

Find 
(a) gf(x)



(b) gf(x)







(c) ff(x)







(d) f-1(x)


Question 8

A sketch of the curve y = sin x° for 0  x  360 is shown below.
[image: ]
Using the sketch above, or otherwise, find the equation of each of the following two curves.
(ii)	
[image: ]
Equation y = ..........................
(i)	
[image: ]
Equation y = ..........................



(3)                                                                                     (3)


Question 9
A survey of 100 people is taken in LEC education. It was asked what is everyone’s favourite colors.
32 people like black
22 people like red
21 people like green
22 people liked both red and black
12 people liked both green and black
8 people liked both red and green
4 people like all 3 colors


a) Make a venn diagram                                                  					 (7)	












b) What proportion of people like none of the above colours?                                                       (2)





Question 10

Test Scores (as %) for 6th Period 


                     38                                                                      72                               88            96         102


________	1.  What was the high score on the test?

________	2.  What percent of the class scored above a 72?

________	3.  What was the median score on the test?

________	4.  What percent of the class scored between 88 & 96?


5.  Do you think that this test was too hard for the students?  Explain.

________________________________________________________________________

________________________________________________________________________

6.  Would you expect the mean to be above or below the median?  Explain.

________________________________________________________________________

________________________________________________________________________



Question 11
(a)	Show that	(2a – 1)2 – (2b – 1)2 = 4(a – b)(a + b – 1)








(5)


(b)	Prove that the difference between the squares of any two odd numbers is a multiple of 8.
(You may assume that any odd number can be written in the form 2r – 1, where r is an integer).







(4)



Question 12
[image: ]
	OABC is a parallelogram.
	P is the point on AC such that AP = [image: ]AC.
	[image: ] = 6a. [image: ] = 6c.
(a)	Find the vector [image: ].
Give your answer in terms of a and c.


..............................
(3)
	The midpoint of CB is M.
(b)	Prove that OPM is a straight line.




(3)
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